Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Question Number : 1 Question Id : 630680150289 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Eight persons named K, L, M, N, O, P, R and S are sitting in a straight line facing north. More than three persons are sitting between L
and K. S is sitting third to the left of M. P is sitting third to the left of K. O is sitting second to the right of K. Only two persons are sitting
between S and L. N is sitting third to the left of R. N is sitting to the immediate left of P. Who is sitting to the immediate left of R?

Options :
1.¥S
2. %P
3.%0
4. % M

Question Number : 2 Question Id : 630680150290 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In a class of 80 students, Jadhav is in the 11th position from the left end. Only 12 students are sitting between Jadhav and Raunak.
Jadhav is sitting towards the left of Raunak. Vineet’s position is 24th from the right end. How many students are sitting between Raunak
and Vineet?
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Options :
1. % 30
2.9 32
3.% 22
4, % 34

Question Number : 3 Question Id : 630680150291 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to
be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

All kites are papers.

No bottle is a cork.
Some papers are bottles.

Conclusions:

1. No kite is a cork.

II. Some kites are bottles.
II1. No paper is a cork.

Options :

1. # Both I and II follows
2. # Only II follows

3. % Both II and III follows

4. ¥ None of the conclusions follow.

Question Number : 4 Question Id : 630680150292 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

IfH>T<R=M>U and P> B = C <U, then which of the following is correct?
Options :

1. % H>R

2. % U<B

3. % T<U

4. #U<R

Question Number : 5 Question Id : 630680150293 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Select the term from among the given options that can replace the question mark (?) in the following series.

BLW-19, EPB-23, HTG-29, KXL-31, ?, QFV-41
Options :

1. ¥ NBQ-37

2. % NBR-37

3. ¥ NAQ-39

4. % NBQ-333

Question Number : 6 Question Id : 630680150294 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

In a certain code language, 'ZODIAC' is written as ‘EPADBJ’ and ‘CLARKS’ is written as ‘BMDTLS’. How will 'SORTED' be written
in that language?

Options :
1. ¥ USTPFE
about:blank 2/24
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2. % EFUSPT
3. ¥ SPTEFU
4. % SPEFTU

Question Number : 7 Question Id : 630680150295 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A man is standing in a park facing south direction then he turns 135 degrees anticlockwise. After that, he turns 45 degrees clockwise.
Then he turns 180 degrees clockwise. In which direction is he facing now?

Options :
1. ¥ East
2. ¥ West
3. # Northwest
4. % Southwest

Question Number : 8 Question Id : 630680150296 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A & B means ‘A is the wife of B’
A % B means ‘A is the father of B’
A @ B means ‘A is the son of B’
A # B means ‘A is the brother of B’

KZ#C%E &N @K#F % G, then how is F related to E?
Options :

1. ¥ Father’s brother

2. ¥ Father-in-law’s brother

3. # Husband’s brother

4. % Mother-in-law’s brother

Question Number : 9 Question Id : 630680150297 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A question is given, followed by two statements labelled I and II. Identify which of the statements is/are sufficient/necessary to answer
the question.

Question:
In which direction is Prateek’s house with reference to Rachit’s house?

Statements:

I. Divya’s house is 70 m North of Prateek’s house. Kinjal’s house is 70 m north of Rachit’s house.
II. Kinjal’s house is 80 m east of Divya’s house.

II1. Shobhit’s house is 60 m west of Rachit’s house.

Options :

1. ¥ Both statements I and II are sufficient.

2. % Both statements I and I1I are sufficient.

3. % All three statements I, II and III together are not sufficient.
4. % All three statements I, II and III together are necessary.

Question Number : 10 Question Id : 630680150298 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the option that is related to the fifth term in the same way as the first term is related to the second term and the third term is related
to the fourth term.

PRISM-16 : TVEWQ-56 :: OCCUR-18 : KGGQV-63 :: ENEMY-14 : ?
Options :
about:blank 3/24
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about:blank
1. ¥ ARAQC-52

2. % ARAQC-49

3. # IRIQC-49

4. % IRIQU-46

Question Number : 11 Question Id : 630680150299 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. ¥ LIGHT : WKJLO

2. % FOUND : GQXRI

3. ¥ SCENE : BQBZV

4. * HINGE : HIQLK

Question Number : 12 Question Id : 630680150300 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A statement is followed by three courses of action numbered I, II and III. Assuming everything in the statement to be true, decide which
of the suggested courses of action (a decision to be taken for follow up /improvement in regard to the problem) logically follow(s) for
pursuing:

Statement:
The overwhelming population burden is causing various problems such as resource crunch on various resources like food grains, houses,
energy, employment and health needs, environment and social security.

Courses of Action:

1. The people should be taught to use these resources appropriately and should not cause any wastage.

I1. The population should be made skilled enough in various sectors so that it can be a demographic dividend for the optimum growth.
III. Resource crunch is not a major issue and we can deal with it later.

Options :

1. ®* Both I and III follow
2. % Only II follows

3. % Both I and II follow
4. % Both II and III follow

Question Number : 13 Question Id : 630680150301 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Select the figure from among the given options that can replace the question mark (?) in the following series.

*

0

A

*

O

Q

O A O

O

A

)21

Options :

%

A

(@)

O

1. ¢

about:blank

4124



1/21/23, 3:34 PM

O
O
A %
2. %
O
I b ]
3. %
*
A
N (@) O
4, %

Question Number : 14 Question Id : 630680150302 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the correct mirror image of the given combination when the mirror is placed at line 'PQ' as shown below.

P
fgwnz52

Q
Options :

.eSsnwpt
,.S8exnwpt

.Sazuwp?

,.Sexsnwhby

Question Number : 15 Question Id : 630680150303 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the number from among the given options that can replace the question mark (?) in the following series.

24, 30, 41, 59, 86, ?, 175
Options :
1. # 116
2. %119
3.9 124
4. % 136

Enable Mark as Answered Mark for Review and Clear Response :

about:blank

about:blank

Yes
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Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 16 Question Id : 630680150304 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
-1
Which of the following expressions is equal to 80 2 ?

Options :

| 10V2

3100
2. v 20

Question Number : 17 Question Id : 630680150305 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Bhupen sells 8 sarees to Dhiren all at a profit of 33 g% whereas Dhiren sells half of them at a profit of 40% and the

rest at a loss of 10% to Hiral for a total amount of ¥29.440. Find the cost price per saree to Bhupen.
Options :
| v 32,400

, % 2,550
3 % 32,700

4 % 2,880

Question Number : 18 Question Id : 630680150306 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Rahul marks his goods at 30% above cost and allows a discount of 10% thereby making a sale of 32,760 and since he
had more stocks lying unsold, he further allowed a discount of 20% and made a sale of Z16.848. What was the original

cost price (in ) of his total stock?
Options :

L % 52,300

5 % 50,680

3 % 48,800

about:blank 6/24
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4w 46,000

Question Number : 19 Question Id : 630680150307 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

: : : 3 ; :
Happy, Joy and Merry can finish a job together in 11 = days. Happy and Joy can finish the same work together in 15

days whereas Happy and Merry together can finish the same job in 16 days. How many days will it take for Happy to

complete the job alone?
Options :
1. % 20

2.¢ 24

3. % 28

Question Number : 20 Question Id : 630680150308 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Two circles with centres P and Q meet at Z. A common tangent AB meets the circles at L and M. If PQ = 11 cm and

QM =4 cm. find the length of LM in cm (rounded off to two decimal places).

A L M B
Options :

| % 9.46
) « 10.58

3 % 11.23

4 % 12,14

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 21 Question Id : 630680150315 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Select the correct meaning of the given idiom.

To get wind of

about:blank
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Options :
1. ¥ To become rich by winning a lottery
2. % To allow someone to do as they please
3. # To catch a cold during change of season

4. ¥ To get information about something

Question Number : 22 Question Id : 630680150316 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it,
select ‘No substitution’.

He gave himself airs when the shopkeeper refused to replace the defective goods sold to him earlier.
Options :

1. % went through fire and water

2. % cut a sorry figure

3. ¥ kicked up a row

4. % No substitution

Question Number : 23 Question Id : 630680150317 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Select the most appropriate ANTONYM of the given word.

Active
Options :

1. ¥ Smooth
2. #% Tame
3. ¥ Passive
4. ¥ Lenient

Question Number : 24 Question Id : 630680150318 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Select the most appropriate synonym of the given word.

Despise
Options :

1. ¢ Scorn
2. % Accuse
3. ® Seize
4. ¥ Lament

Question Number : 25 Question Id : 630680150319 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the INCORRECTLY spelt word.
Options :

1. % Devout

2. % Devoid

3. ¢ Depleat

4. ¥ Deceive

about:blank 8/24
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Question Number : 26 Question Id : 630680150320 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
Select the sentence with all correctly spelt words.
Options :
1. ¥ Both prosparity and adversity are bound to pass, to be swalowed by a shdowy past.
2. % Both prosperity and adversity are bound to pass, to be swallowed by a shadowy past.
3. % Both prosperty and adversty are bound to pass, to be swalowed by a shadowey past.

4. % Both prosparety and advercity are bound to pass, to be swallowed by a shadowey past.

Question Number : 27 Question Id : 630680150321 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. fills us with dejection

B. a brilliant performance

C. while a dismal result in another
D. in one examination turns our head

Options :

1. ¥ BDAC
2. % BACD
3. ¥ BDCA
4. ¥ BCAD

Question Number : 28 Question Id : 630680150322 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Arrange the sentences in the correct order to form a meaningful paragraph.

A. A thousand kilometres lay ahead but they kept up behind their leader.

B. A dozen honey buzzards were headed towards the Italian mainland.

C. Their voyage had begun in Southern Africa.

D. Then, suddenly two shots from the mountain side sent the lead bird spinning down to the earth.

Options :

1. % CDBA
2. ¥ BCAD
3. % ABDC
4. ¥ ADBC

Question Number : 29 Question Id : 630680150323 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Select the option that can be used as a one-word substitute for the given group of words.

One who loves his country.
Options :

1. % Martyr

2. % Patron

3. % Patriot

4. % Soldier

Question Number : 30 Question Id : 630680150324 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

about:blank 9/24
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Select the option that can be used as a one-word substitute for the given group of words.
To steal something of little value in small quantity usually from workplace.
Options :
1. * Burglary
2. # Plunder
3. # Loot
4. ¥ Pilfer

Is Section Default? : null

Question Id : 630680150309 Sub Question Shuffling Allowed : No Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Read the given passage and answer the questions that follow.

A chimpanzee is one of the great apes and the closest in intelligence to man. Scientists have examined their mental capabilities and sent
them into space before man. Chimpanzees need little description. Being apes and not monkeys, they do not have a tail. Their arms are
longer than their legs and they are normally placed on all fours. They may also walk upright with their toes pointed out. When erect, they
are 3 to 5 feet tall. Their hair is long and coarse, black except for a white patch near the rump. The face, ears, hands, and feet are bare
and, except for the black face, the flesh is coloured.

Chimpanzees show great concern for others. When chimpanzees meet after being separated, they greet each other in a very human way
by touching or even shaking hands. Chimpanzees have amazing social discipline. When a dominant male arrives, the rest of the
chimpanzees rush to pay their respects. The dominant male is not allowed to take food from his inferiors. Group members also spend a
considerable amount of time together grooming each other and themselves. Mothers check their babies’ fur for foreign particles, dirt, and
ticks, and help each other when they get hurt.

Chimpanzees are the best tool users besides man. Sticks 2 to 3 feet long are picked up from the ground or branches of the trees and
pushed into the nests, then removed and licked for honey or insects. The stones and nuts are used as projectiles to keep humans and
baboons away from their food. Chimpanzees are not only tool users, but also tool makers. They make their own sticks by plucking the
leaves off a twig or ripping them to pieces. Chimpanzees learn all of this by watching how older chimpanzees make and use them. So,
man is not the only one to make tools, he is simply better than his relatives.

Sub questions

Question Number : 31 Question Id : 630680150310 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Chimpanzees do not have a tail because:
Options :

1. # they are monkeys

2. ¥ they are apes

3. # they have short legs

4. # they walk upright

Question Number : 32 Question Id : 630680150311 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is a human behaviour exhibited by the chimpanzees?
Options :

1. #¥ Not taking food from the inferiors

2. % Pelting stones to safeguard their food

3. ® Pushing sticks into nests and licking off insects

4.+ Greeting each other by touching or shaking hands

Question Number : 33 Question Id : 630680150312 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Which of the following statements is FALSE?
Options :

about:blank 10/24
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1. ¥ Chimpanzees learn to make and use tools from elders.
2. ¥ Mothers clean the babies’ fur by removing dirt and ticks.
3. ¥ When a dominant male arrives, he is resented by others.

4. % They spend a lot of time grooming together in groups.

Question Number : 34 Question Id : 630680150313 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
The given passage is:
Options :

1. % analytical
2.+ informative

3. ® discursive

4. ¥ persuasive

Question Number : 35 Question Id : 630680150314 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the word from the passage which means ‘an object propelled by force’.
Options :

1. % Plucked

2. % Particle

3. ¥ Projectile

4. % Pushed

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 36 Question Id : 630680150325 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Researchers from which of the following institutes have developed an ‘Ocean Wave Energy Converter’ called ‘Sindhuja-1,” that can
generate electricity from sea waves?

Options :

1. % Indian Institute of Technology, Bombay
2. ¥ Indian Institute of Technology, Madras

3. # Indian Institute of Technology, Delhi

4. ¥ Indian Institute of Technology, Hyderabad

Question Number : 37 Question Id : 630680150326 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

At the time of the Punakha Treaty between British India and Bhutan, who was the Governor General of India?
Options :

1. ¢ Earl of Minto

2. % Lord Hardinge of Penhurst

3. % Marquis Curzon of Kedleston

4. % Lord Ampthill

Question Number : 38 Question Id : 630680150327 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
about:blank 11/24
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Wangala dance of Tripura belongs to which of the following communities?
Options :
1. # Lushai community
2. ¥ Garo community
3. % Mog community

4. % Reang community

Question Number : 39 Question Id : 630680150328 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following waterbodies separates India from Sri Lanka?
Options :

1. ¢ Palk Strait

2. % Duncan Passage

3. % 10° Channel

4. % 8° Channel

Question Number : 40 Question Id : 630680150329 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The Fundamental Duties of citizens were added to the Constitution by the 42nd Amendment in 1976, upon the recommendations of
which of the following committees?

Options :

1. % Raja Chelliah Committee
2. % Khusro Committee

3. % Swaran Singh Committee
4. ¥ Bibek Debroy Committee

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 41 Question Id : 630680150330 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

‘Current file’ is a file:

Options :

1. % that is opened in the current month

2. % on which action is not yet complete

3. % that is opened in the current financial year

4. ¥ that has been opened as a supplementary to the original file

Question Number : 42 Question Id : 630680150331 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

National Commission for Women is a/an:
Options :

1. ¢ statutory body

2. & autonomous body

3. % constitutional body

4. % department of the Government of India

about:blank 12/24
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Question Number : 43 Question Id : 630680150332 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

A communication generally used for issuing certain types of financial sanctions and for communicating Government orders in
disciplinary cases shall be called:

Options :

1. # office memorandum
2. ¥ order

3. % office order

4. % demi-official letter

Question Number : 44 Question Id : 630680150333 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Reference to the Controller and Auditor General of India for his views/advice shall be made only through:
Options :

1. ¥ the Ministry of Finance

2. % the PMO

3. ¥ the Ministry of Home affairs

4. % the Solicitor General of India

Question Number : 45 Question Id : 630680150334 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

An Act to regulate the management, administration and preservation of public records of the Central Government and its allied entities,
named Public Records Act came into force in the year:

Options :
1. % 1948
2. % 1952
3. % 1975
4.+ 1993

Question Number : 46 Question Id : 630680150335 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The financial powers of the Government that have NOT been delegated to a subordinate authority shall vest in:
Options :

1. # the Prime Minister’s Office

2. ¥ the Finance Ministry

3. # the Office of the C&AG

4. # the Home Ministry

Question Number : 47 Question Id : 630680150336 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

All losses above the value of due to suspected fire, theft and fraud, etc., shall be invariably reported to the Police by the
Government.

Options :

1. ¥ 350,000
2. % 325,000
3. # %1,00,000
4. % 315,000

about:blank 13/24
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Question Number : 48 Question Id : 630680150337 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
All non-tax revenues are collected by:
Options :
1. ¥ the Ministry of Finance
2. % the Ministry of Labour
3. % the Ministry of Home Affairs

4. # different ministries, departments and autonomous bodies

Question Number : 49 Question Id : 630680150338 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

General Central Service is:

Options :

1. ¥ the same as Central Civil Service

2. ¥ not an official term

3. % ysed to indicate the civil services part of Defence

4. % deemed to be civil service

Question Number : 50 Question Id : 630680150339 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Under CCS(CCA) Rule, 1965, a Government servant shall be deemed to have been placed under suspension, if he is detained in custody
for a period exceeding:

Options :

1. ¥ 24 hours
2. ¥ 12 hours
3. % 36 hours
4. ¥ 48 hours

Question Number : 51 Question Id : 630680150340 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is NOT a minor penalty under the CCS(CCA) Rule, 1965?
Options :

1. ¥ Withholding of promotion

2. ¢ Reduction to lower time-scale

3. % Withholding of increment

4. % Censure

Question Number : 52 Question Id : 630680150341 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Can a Government department initiate departmental proceedings for the charge of fraud/corruption simultaneously, if there is a court
case pending over the same charges?

Options :

1. # No

2. % Yes, it is permissible

3. # Yes, it is permissible only if a court case is pending in a lower court

4. % Yes, if the charged officer belongs to Group A services

about:blank 14/24
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Question Number : 53 Question Id : 630680150342 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
‘Foreign Service’ means:
Options :
1. ¥ A government servant on foreign posting
2. % Employees of the Ministry of External Affairs
3. % Indians recruited in the Indian embassy/establishment in a foreign country

4. ¢ Service in which a government servant receives his pay from a source other than the Consolidated Fund of India

Question Number : 54 Question Id : 630680150343 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

No Government servant normally shall be granted leave of any kind for a continuous period exceeding years.
Options :

1. # two

2. % three

3. % four

4, ¥ five

Question Number : 55 Question Id : 630680150344 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

For the purpose of Medical Attendance Rule, the ‘family’ of an employee will EXCLUDE:
Options :

1. ¥ stepmother

2. ¥ judicially separated wife

3. % adoptive father

4. % 20-year old son with his own business

Question Number : 56 Question Id : 630680150345 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Read the given statements and select the correct option.

A. Medical advance is admissible to all Government servants.
B. Medical advance is admissible for indoor treatment only.

Options :

1. ¥ Only A is correct

2. % Only B is correct

3. % Both A and B are correct

4. % A is correct, but B is incorrect

Question Number : 57 Question Id : 630680150346 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Medical treatment outside India is permissible for reimbursement:

Options :

1. # to officers belonging to Group A services only

2. % to personal staff of a Minister only

3. ¥ to Government servants recommended by the Standing Committee for the purpose

4. % to Government servants belonging to SC/ST category only
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Question Number : 58 Question Id : 630680150347 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

An alteration of date of birth can be made if the employee makes a request within year/years of his entry into Government
service.

Options :
1. * one
2. % two
3. % three
4. ¢ five

Question Number : 59 Question Id : 630680150348 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The Service Book for the employees is to be maintained by the Government from the date of appointment. It is required to be shown to
the employees:

Options :

1. ¢ every year

2. % once in two years

3. % only when an employee makes a request and deposits the prescribed fees

4. % only six months before the date of retirement

Question Number : 60 Question Id : 630680150349 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

If both a man and his wife are Government servants, then are they entitled to HRA?
Options :

1. ¥ Yes, if they live separately

2. % No

3. ¥ Yes, both are entitled

4. % Yes, if one of them belongs to Group C service

Question Number : 61 Question Id : 630680150350 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

GPF Rules are applicable to those Central Government employees who have been appointed on or before:
Options :

1. ¥ 1 April 2003

2. ¥ 31 March 2003

3. ¥ 31 December 2003

4. % 31 January 2004

Question Number : 62 Question Id : 630680150351 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is NOT a stated purpose for which GPF advance can be drawn?
Options :

1. ¥ Pilgrimage

2. ¥ Purchasing a consumer durable

3. ¥ Purchasing a plot of land

4. % Meeting the cost of a legal proceeding
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Question Number : 63 Question Id : 630680150352 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
What is the minimum years of service prescribed for withdrawal of 90% of balance of GPF?
Options :
1. %20
2. %15
3.4°10
4. % 12

Question Number : 64 Question Id : 630680150353 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The Appointing Authority can order premature retirement to an employee. In this case, the employee will be entitled to:
Options :

1. ¥ normal pensionary benefits

2. % half the normal pensionary benefits

3. % no pensionary benefits

4. # ¥, the normal pensionary benefits

Question Number : 65 Question Id : 630680150354 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Emoluments for pension will consist of pay and:
Options :

1. % non practicing allowance (NPA)

2. % deputation allowance

3. ® personal pay

4. # gpecial allowance

Question Number : 66 Question Id : 630680150355 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Can the Government recover its dues from the retirement gratuity/death gratuity?
Options :

1. ¥ Yes

2. % No, consent from the employee/nominee or family member is necessary

3. % No

4. # Yes, only if the court of law so orders

Question Number : 67 Question Id : 630680150356 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Average emoluments for the purpose of pension is the average emoluments drawn during the last months of service.
Options :

1. % 12

2.%10

3. %8

4. % 6

Question Number : 68 Question Id : 630680150357 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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Full pension is admissible to an employee retiring with minimum qualifying service of not less than years.
Options :
1. %12
2.¥10
3. %15
4. % 20

Question Number : 69 Question Id : 630680150358 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A pensioner is entitled to commute a percentage of his monthly pension for a lump sum payment. The maximum percentage allowed
shall be:

Options :
1. % 30%
2. ¥ 40%
3. % 35%
4. % 50%

Question Number : 70 Question Id : 630680150359 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The commuted portion of pension will be restored on expiry of years from the date of retirement.
Options :

1. %10

2. %12

3.915

4. % 20

Question Number : 71 Question Id : 630680150360 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

When there is more than one widow, the family pension will be allowed:
Options :

1. ¥ in equal shares

2. % to the senior/senior most widow

3. # to the junior/junior most widow

4. % to none of them

Question Number : 72 Question Id : 630680150361 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

If a government servant dies while under suspension, the period of suspension will be:
Options :

1. # deducted from the length of service

2. ¥ treated on duty

3. # treated as leave without pay

4. % treated as leave on medical grounds

Question Number : 73 Question Id : 630680150362 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Under the GFR, ‘Government’ means:
Options :
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1. ¥ the Central Government

2. ¥ the Central and State Governments

3. # the Central Government and UTs

4. % the Central/State Governments/UTs and PSUs

Question Number : 74 Question Id : 630680150363 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Consolidated Fund of India has the mandate of:
Options :

1. % the Constitution of India

2. ®% the RBI Act, 1934

3. % GFR

4, ¥ FR&SR

Question Number : 75 Question Id : 630680150364 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

An item may be declared obsolete by the authority:
Options :

1. ¥ competent to purchase the item

2. % higher to the authority competent to purchase

3. % in consultation with the representative of the C&AG
4. ¥ in-charge of the item

Question Number : 76 Question Id : 630680150365 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Under the GFR, the term ‘goods’ excludes:
Options :

1. # vehicles

2. ® furniture

3. % livestock

4. % books

Question Number : 77 Question Id : 630680150366 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Any purchase can be made only through a Local Purchase Committee, if the value of good exceeds:
Options :

1. ¥ 225,000

2. % 215,000

3. % 10,000

4. % 320,000

Question Number : 78 Question Id : 630680150367 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
Purchase of goods may be made without inviting quotations if the value is up to:
Options :
1. % 50,000
2. % 340,000
3. ¥%25,000
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4. % 375,000

Question Number : 79 Question Id : 630680150368 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A Government servant who intends to marry a person other than of Indian nationality shall be:
Options :

1. ¥ required to take permission from the Government before the marriage

2. ¥ required to intimate the fact to the Government

3. % required to surrender the passport of the other national

4. % free to do so as there is no role of the Government

Question Number : 80 Question Id : 630680150369 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Did the GST Act provide for the creation of a Consumer Welfare Fund?
Options :

1. ¥ Yes

2. % Yes, but it is only for Jammu and Kashmir

3. % No, there is no such provision

4. ® Yes, but it is only for the States of North-East

Question Number : 81 Question Id : 630680150370 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Disposal of a request under the RTI Act, 2005, has been dealt with under Para of the Act.
Options :

1. % 6(3)

2. % 6(1)

3.¥7

4, %8

Question Number : 82 Question Id : 630680150371 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is exempted from disclosure, under the RTI Act?
Options :

1. % Microfilm of a record

2. % Manuscript

3. % Images of a document

4. + Cabinet notes/papers

Question Number : 83 Question Id : 630680150372 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Pro-forma promotion shall mean:

Options :

1. ¥ promotion to an officer under suspension

2. % promotion to an officer without having actual vacancy
3. ¥ promotion to an officer serving outside his regular cadre

4. % providing only financial benefits arising out of promotion
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Question Number : 84 Question Id : 630680150373 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
An officer who declines a promotion will NOT be promoted again for:
Options :
1. * the next two years
2. ¥ the next one year
3. ¥ the next five years

4. % an indefinite period

Question Number : 85 Question Id : 630680150374 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

The time-limit for submission of claims for TA has been changed from one year to
Options :

1. # 90 days

2. % 120 days

3. % 60 days

4. % 150 days

Question Number : 86 Question Id : 630680150375 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

DA (Daily Allowance) is permissible on temporary transfer for the first days.
Options :

1. # 120

2. ¥ 180

3. %150

4. % 60

Question Number : 87 Question Id : 630680150376 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

What is the percentage of reservation for Economically Weaker Sections (EWS) in direct recruitment?
Options :

1. & 800

2. % 10%

3. % 12%

4. % 6%

Question Number : 88 Question Id : 630680150377 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

If a widow appointed on compassionate ground remarries, then she will be:
Options :

1. # removed from service

2. # given premature retirement

3. % allowed to continue

4. % allowed to continue if the remarriage takes place only after two years of appointment

Question Number : 89 Question Id : 630680150378 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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Government employees covered under National Pension Scheme shall be eligible for the benefits of:
Options :
1. ¥ retirement gratuity only
2. % death gratuity only
3. ¥ both retirement and death gratuity
4. % the NPS subscriber is not eligible for gratuity

Question Number : 90 Question Id : 630680150379 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Dearness Relief is admissible on:

Options :

1. ¢ original pension before commutation
2. ¥ the commuted percentage of pension
3. ¥ pension after commutation

4. % basic pay at the time of retirement

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 91 Question Id : 630680150380 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which T-code is used for maintaining HR master data?
Options :

1. ¥ PA20

2. ¥ PA30

3. % PS40

4. ®¥ PRMS

Question Number : 92 Question Id : 630680150381 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which T-code is used for salary administration?
Options :

1. ¥ PA99

2. ¥ PA9S

3. # PA97

4. % PA96

Question Number : 93 Question Id : 630680150382 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

What functions does SAP query NOT perform for reporting in SAP HCM?
Options :

1. # Definition of reports

2. % Creation of infosets

3. # Definition of business events hierarchy

4. & Creation of user groups
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Question Number : 94 Question Id : 630680150383 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
Which of the following is NOT an asset in SAP?
Options :
1. # Simple asset
2. ¥ Complex asset
3. ¥ Moderate asset

4. % Group asset

Question Number : 95 Question Id : 630680150384 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is NOT a type of internal table?
Options :

1. # Standard table

2. % Shorted table

3. # Sorted table

4. % Hashed table

Question Number : 96 Question Id : 630680150385 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which transaction code is used for down payment request configuration?
Options :

1. ¥ OBYR

2. % OBRY

3. ¥ OBRX

4. % OBRR

Question Number : 97 Question Id : 630680150386 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which of the following is responsible for configuration of SAP Transport Management System?
Options :

1. ¥ Domain controller

2. ¥ QA system

3. ®# SAP landscape

4. # Production system

Question Number : 98 Question Id : 630680150387 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

If you want to create a purchase order item for a non-valuated material, then what must you do?
Options :

1. # Set the Goods Receipt indicator

2. # Set the Invoice Receipt indicator

3. ¥ Select an account assignment category

4. % Set the indicator for non-valuated goods receipts

Question Number : 99 Question Id : 630680150388 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1
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What is the transaction code to delete a batch in SAP MM module?
Options :
1. ¥ MCS2N
2. % MMS50
3. ¥ MEO1
4. ¥ MSC2N

Question Number : 100 Question Id : 630680150389 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Which stock type can be counted through physical inventory procedure?
Options :

1. ¥ Unrestricted use stock

2. ¢ In-transit stock

3. % Block stock

4. % Vendor consignment stock
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